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٢W
  א א  א א F٣ ٦ KE א  ٦٦א kV

אW
XG = ٨}٠                               X٠٥}٠ = ١٢   X٠٥}٠ = ٢٣ 

 
X١٢٥}٠ = ٣٤   X٢}٠ = ٤٥ 

אאאאאא
א

אאאW
IF = (V /    √٣)  * XF 

XFאאא
אאF٣٨EF٢  אAF٣

KF٤, F٥ , F٦ , F٧ K


 
F٣٨Eא٢


IF٤٧٦٣٣ = ((٨}٠)* ٣√ ) / ٦٦٠٠٠ = ٨ A. 

 
IF٧ ≈ IF٣٨١٠٦ = (( ٢}٠ + ٨}٠)* ٣√ ) / ٦٦٠٠٠ = ٦ A. 

 
IF٥ ≈ IF٣٣٨٧٢ = ((١٢٥}٠ + ٢}٠ + ٨}٠)* ٣√ ) / ٦٦٠٠٠ = ٤ A. 

 
IF٣ ≈ IF٣٢٤٣١ = ((٠٥}٠ + ١٢٥}٠ + ٢}٠ + ٨}٠)* ٣√ ) / ٦٦٠٠٠ = ٢ A. 
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